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CBSE TEST PAPER-05
CLASS - XII MATHEMATICS

CH-03 Matrices

Given an example of matrix A and B such that AB=0butA #0,B #0

0 1 -
Show that A={-1 O , is skew symmetric matrix.
1 -1

2 4
A= {5 6} , Prove that A+ A' is a symmetric matrix

-1 5
If A= {3 2} show that (3A)'=3A"

_ x yl[1] [3
Solve for x and y, given that =
3y x| 2] |5

{cos@ it
If A=

. _[cosm  sinA
_ then prove that A" =
-sind  co¥

|-sinnd cos A

4 3
A={2 5]findxandysuchthatAz—xA+yI= 0

" A:[ cofa  cosa sim]B :[ cod  co@ siﬂ}

cosa sim  sin‘a co@ si@  sifp
Show that AB is a zero matrix if @ and £ differ by an odd multiple of ]—2-[
Find the condition for which AB=0

3 1
Iff(x)=x2-5x+7 and A:{l 2} find f(A)
_ _ 2 3 2 -
Find Xand Y, if 2x + 3y = 40 and 3x+ 2y = 1
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